Karta nr 2. Doskonalenie technik szkolnych z matematyki.   Kl.V-VI
1.Licz co 2


2     4                          10                                        20
  
Licz co 3


3      6                        15                                         30


Licz co 4


4     8                                                             40

Licz co 5


5     10                                30                                50

2. Oblicz i odgadnij hasło.
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( K) 3 · 5 =                  (O) 3 · 4 =                (O) 3 · 3 =                     (R) 3 · 2 =
(T) 2 · 8 =                   (U) 2 · 4 =                 (S) 2 · 7 =                     (K) 4 · 5 =
(I) 2 · 5 =                   (K) 3 · 6 =
3. ile to jest?
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